more states

Implementing more states

Now that vou're starting to get a feel

for how the Gumball Machine and the states

fit together, let’s implement the HasQuarterState and the SoldState classes...
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GumballMachine gumballMachine;

public HasQuarterState (GumballMachine gumballMachine)
this.gumballMachine = gumballMachine;

}

public void insertQuarter () {
System.out.printlin(TYou can insert

}

public void ejec%“uartﬁr() {
System.out.println("Quarter returned”);
gumballMachine

public void turnCr wnk{) {
System.out.printlin{®You turned...”);
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setState (gumballMachine.getNoQuarterState (});

another quarter”);
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Now, let’s check out the SoldState class...

- % : :
public class SoldState implements State |
/fCOﬁSEfJCLOI and ins

n,ﬁ’
ghis &
tance variables here shabe SO ™ N
e .
NN
ublic void insertQuarter{) { / E %
o . N “ + i z%
System.out.println(“Please wait, we're already giving you a gumball”j ; = ? |
- - R 7 F
. /
} /
//} /
) ) ) ) i
public void ejectQuarter() { /j
System.out.println(“Sorry, you already turned the crank”): 4
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Lock back at t?{e GgmbaiiMaChiﬂe implementation. If the crank is tumed and not successful (say

the customer didn't insert a quarter first), we call dispense anyway, even though it's unneceésary
How might you fix this?
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